## Construction division. Advice for giving credit to contractors/suppliers.

SI. No site bills	T		Date	- site bi	11a	<b></b>	
register Company Name:		1268-	Reg			06/1	56/22
	M	ZMILP	Site			GIM	2
Name of Contractor	1		Raju	8			-
Nature of work		nelle					
Work done		Date	Fining	To	Date		
SI. Villa/Flat/block		ty.	Rate	Units		1616	122
No.			Nau	Units	Amou	mt	Contractors bill no
- 6 VII anthe h	ina	1057	61-	sft	12-	- 0 1	
	i dal	176	61-		6,37		
3. 21×2161 gail	10		Contraction of the local division of the loc	SIL		16/-	
4. HIX2 anil		220	61-	STA		201-	
5. Gamille cepti		132	6/-	SIL	70	721-	
		IXXIC IA					
7. filelding 1/43	Construction in Factor in Construction in which the Party Name	120	26/-	SEL	2.69	10/-	
8. L'XCH' delting	$\downarrow \downarrow \rangle$	HO	211-	Stt	5.0	HOLE	
9.							
				1			
10.		1					
	otal:	~			IN AN		
Bill required	O YES	INO.	GSTI	ill require	17,06		
Magazi						VES I	
antimate 1	☑ Requi □ Not re			irement &	1	Enclos	1. C
PO/WO no.		AMILEN		te sheet: O date:		□ Not er	closed
Bernaular							
Remarks: Taborde	MS	gaille	fixing	1001	e da	De ar	ad some
goills cuttion	A 0.7	2 1 2 20	laling 1		La		
	1		and for	-10-21K	dene	ai	B-501.50
50H, 505, 507, 506	;GOH,	603,60	26,608,6	02 -110-	te:		
Approved by Project Mana	lger	Approv	ed by Desig	n Team	App	roved by	M.D.
Date: 106 06 0	, K	Date:	an a		Date		
Sign:		Sign:	9 - No. 2017 - June - June - Artisto Contractor - 2000 - April - 2000		Sign	:	

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement shoets are not required for turnkey jobs where guideline rates are clearly given.

MEASUREMENT SHEET	SHEET							
Company Name:	MRMLLP						Approved by:	Ramprasad
Project	Gulmohar Residency						Sign:	
Work Description:	Towards Grills fixing wor	Towards Grills fixing work done at B-block 501,502,504,505,507,506,604,603,605,608,602 flats	,504,505,507,5	6,604,603	605,608,60	2 flats.		
Contractor Name:	Tirupathi Raju				,			
Prepared By	Madhan							
Date:	06.06.2022							
			A	в	C		ם	E= AxBxCxD
S No.	Item Head	Item Description	Length	Width	Height	Total	Nos	Ouantity
1	6' X 4' grills fixing	6' X 4' grills fixing	6.00	4.00	1.00	24.00	44.00	1056
2	4'X 4' grills fixing	4' X 4' grills fixing	4.00	4.00	1.00	16.00	11.00	176
	2'X 2'6" grills fixing	2' X 2'6" grills fixing	2.00	2.50	1.00	5.00	44.00	220
4	4' X 3' grills fixing	4' X 3' grills fixing	4.00	3.00	1.00	12.00	11.00	132
	Grills cutting & widing	2' X 2'6" grills fixing	2.00	2.50	1.00	4.00	30.00	120
	UTILIS Cutting & Widing	4' X 4' grills fixing	4.00	4.00	1.00	16.00	15.00	240

done at B-block 501,502,504,505,507,506,604,603	done at B-block 501,502,504,505,507,506,604,603,605,608,602 flats	MRMLLP         Gulmohar Residency         Towards Grills fixing work done at B-block 501,502,504,505,507,506,604,603,605,608,602 flats.         Timmathi Bain	done at B-block 501,502,504,505,507,506,604,603,605,608,602 flats.	
01,502,504,505,507,506,604,603	01,502,504,505,507,506,604,603,605,608,602 flats	01,502,504,505,507,506,604,603,605,608,602 flats.	01,502,504,505,507,506,604,603,605,608,602 flats.	
;07,506,604,603	;07,506,604,603,605,608,602 flats	i07,506,604,603,605,608,602 flats.	i07,506,604,603,605,608,602 flats.	
<u>,6</u>	)5,608,602 flats	)5,608,602 flats.	)5,608,602 flats.	
Approven by: Sign:	Approved by: Sign:	Approved by: Ramprasad Sign:	proved by: Sign:	

¥

## Allowance for Consumables

Tirupathi raju, Mallapur.

Date: 06.06.2022

In favor of:	MRMLLP	
<b>Project / Site:</b>	Gulmohar Residency	
Location:	Mallapur	
Type of Work:	grills fixing.	
Towards:	Allowance for Consumables.	
and the second		

S No.	Description	Amount
1.	Brief description of work done: Grills fixing at B-block flats no:501to 602 work done. Total Amount = 17064/- Work done from date 06.05.2022 to date 6.06.2022	Rs. 3412/-

Amount in words: three Thousand four Hundred twovelv rupees Only.

Sign: Paly

## Bill for Labour Charges

Tirupathi raju, Mallapur.

Date:06.06.2022

In favor of:	MRMLLP
Project / Site:	Gulmohar Residency
Location:	Mallapur
Type of Work:	Granite work
Towards:	Allowance for Labour Charges.

S No.	Description	Amount
1 12 1	Brief description of work done: Grills fixing at B-block flats no:501to 602 work done.	Rs. 6825/-
	Total Amount = 17064/- Work done from date 06.05.2022 to date 6.06.2022	

Amount in words: six Thousand eight Hundred twenty five Rupees Only.

Sign: Key

## Bill for Equipment Allowance

Tirupathi raju, Mallapur.

Date: 06.06.2022

MRMLLP
Gulmohar Residency
Mallapur
Granite work
Allowance for Equipment.

S No.	Description	Amount
1.	Brief description of work done: Grills fixing at B-block flats no:501to 602 work done.	Rs. 6825/-
	Total Amount = 17064/- Work done from date 06.05.2022 to date 6.06.2022	

Amount in words: six Thousand eight Hundred twenty five Rupees Only.

Sign: Roju